

(5.5) Substitution Rule

$$\int \underline{f(g(x))g'(x)} dx = F(g(x)), \text{ where } F' = f.$$

PF: $[F(g(x))] = F'(g(x)) \cdot g'(x) = \underline{f(g(x))g'(x)}$

Examples:

$$\begin{aligned} \textcircled{1} \int x^3 \sin(x^4+1) dx &= \left| \begin{array}{l} y = x^4 + 1 \\ dy = (x^4+1)' dx \\ = 4x^3 dx \end{array} \right| \quad \underline{x^3 dx = \frac{1}{4} dy} \\ &= \int \sin y \cdot \frac{1}{4} dy = \frac{1}{4} \int \sin y dy = \underline{\underline{-\frac{1}{4} \cos y + C}} \\ &= \underline{\underline{-\frac{1}{4} \cos(x^4+1) + C.}} \end{aligned}$$

$$\begin{aligned} \textcircled{2} \int \sqrt{\underline{3-2x}} dx &= \left| \begin{array}{l} u = 3-2x \\ du = -2 dx \\ dx = -\frac{1}{2} du \end{array} \right| = \int \sqrt{u} \left(-\frac{1}{2}\right) du \\ &= -\frac{1}{2} \int u^{\frac{1}{2}} du = -\frac{1}{2} \cdot \frac{2}{3} u^{\frac{3}{2}} + C = \underline{\underline{-\frac{1}{3} u^{\frac{3}{2}} + C.}} \end{aligned}$$

$$\begin{aligned} \textcircled{3} \int \sin 4x dx &= \left| \begin{array}{l} t = 4x \\ dt = 4 dx \end{array} \right| = \int \sin t \frac{1}{4} dt \\ &= \frac{1}{4} \cdot (-\cos t) + C = \underline{\underline{-\frac{1}{4} \cos(4x) + C.}} \end{aligned}$$

$$\begin{aligned} \textcircled{4} \int \sqrt{1+x^2} x^5 dx &= \left| \begin{array}{l} y = 1+x^2 \\ dy = 2x dx \\ x^5 dx = \underbrace{(x dx)}_{\frac{1}{2} dy} \cdot \underbrace{x^4}_{(y-1)^2} \end{array} \right| \quad \begin{array}{l} x^2 = y-1 \\ x^4 = (y-1)^2 \end{array} \\ &= \frac{1}{2} \int \sqrt{y} \cdot (y-1)^2 dy = \frac{1}{2} \int u^{\frac{1}{2}} (u-1)^2 du \end{aligned}$$

$$\begin{aligned}
 & \int -\frac{1}{2} (y^2 - 2y + 1) dy \\
 &= \frac{1}{2} \left[\int y^{\frac{5}{2}} dy - 2 \int y^{\frac{3}{2}} dy + \int y^{\frac{1}{2}} dy \right] \\
 &= \frac{1}{2} \cdot \frac{2}{7} y^{\frac{7}{2}} - \frac{2}{5} y^{\frac{5}{2}} + \frac{1}{2} \cdot \frac{2}{3} y^{\frac{3}{2}} + C \\
 &= \frac{1}{7} y^{\frac{7}{2}} - \frac{2}{5} y^{\frac{5}{2}} + \frac{1}{3} y^{\frac{3}{2}} + C.
 \end{aligned}$$

$$\begin{aligned}
 \textcircled{5} \quad \int \tan x \, dx &= \int \frac{\sin x}{\cos x} dx = \left| \begin{array}{l} \cos x = u \\ -\sin x \, dx = du \end{array} \right| \\
 &= -\int \frac{du}{u} = -\ln|u| + C = -\ln|\cos x| + C.
 \end{aligned}$$

Substitution for definite integrals

$$\begin{aligned}
 \int_a^b f(g(x)) g'(x) \, dx &= \left| \begin{array}{ll} u = g(x) & a \rightarrow g(a) \\ & b \rightarrow g(b) \end{array} \right| \\
 &= \int_{g(a)}^{g(b)} f(u) \, du
 \end{aligned}$$

Example:

$$\textcircled{1} \int_0^1 x^3 \sin(x^4 + 1) \, dx = -\frac{1}{4} \cos y \cdot \left| \begin{array}{l} 2 \\ 1 \end{array} \right| = -\frac{1}{4} \cos 2 + \frac{1}{4} \cos 1$$

$y = x^4 + 1$
 $0 \rightarrow 0^4 + 1 = 1$
 $1 \rightarrow 1^4 + 1 = 2$

$$= -\frac{1}{4} \int_1^2 \sin y \, dy =$$